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Mock Catalog for High-z Galaxies

O R—R=EBTBAIEETIL(ZEET L Nagashima & Yoshii 04)
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O + EHOEESARET L (Schaerer 03)
BEEREE (Z<10Y) DELNSYIDRIFET IV
ZEETILDEMBELE convolve > Niyc. Lo Lisgo BE

O + Lyo HEREDHRZMRMBIET IL (MARK+ 07, 10)
Lyo SRETEE D ERETE - T ERA DA MNDRIEZEE
-z=3-7 LAE O Lya-UV JtEE. Lya FMESHzHH

O 4+ nebular emission (Schaerer & de Barros 09)
-continuum + lines (H, He, C, N, O, S, etc.: £ B EIZ{K7F)
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O HERATHON-EXRALGEDRERAZEZ. ZDOFEF high-z ZEH
- & Z MR SR =MW, metal-to-dust mass ratio=MW
2 high-z TOERBRHAREMIZEHLLHEELHYSD
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O &t&EL7z redshift A z=0-25 TAz=1
= Ha-HB A® NB filter ELT. & z T® Ha-HB NRIVEEEGD
FWHM = 100A, 300A, 500A D =g TN ETNEE
(e.g.) z=5:NB(Ha) = 3.94 um, NB(HB) = 2.92 um
Z=0: 4.59 um, 3.40 um
z=1: 5.25 um, 3.89 um



high-z HAE Ha St B & 4
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O FWHM = 100-300A Tl¥ Ha NB Number Count IZ

2{EFXRonhiiho1-
> EW(Ha) BNIEFIZKREZLN? or /N

O >1deg? &GdDIE, f . =0
ELVORKDOR|WBLY T,
z=5(3.9um): NB = 25.8 ABmag

6 (4.6 um): 26.4
7 (5.3 um): 27.2

KEBLADRERASAE LY

FO : A=3.257pm, AA=0.048pm — z=5.70 (NB&I6) Hp
Fl : A=3.675pm, AA=0.053pum — z=6.56 (NB921) Hp
F2 : A=3.899um, AA=0.089um — z=7.02 (NB973) Hp
F3 : A=4.015pm, AA=0.084pm — 2=7.26 (NB1006) Hp
F4 : A=4.397pm, AA=0.065um — z=5.70 (NB&16) Hx
F5 : A=4.749um, AA=0.057um — z=8.77 (NB119) Hp
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FWHM = 100 A, EW(Ha) = 1000 A
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FWHM = 100 A, EW(Ho) = 100 A
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FWHM =100 A, EW(Ho) = 10 A
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FWHM =300 A, EW(Ha) = 1000 A
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FWHM =300 A, EW(Ho) = 100 A
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FWHM =300 A, EW(Ho) =10 A
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FWHM =500 A, EW(Ha) = 1000 A
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FWHM =500 A, EW(Ho) = 10 A
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FWHM = 1000 A, EW(Ho) = 1000 A
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FWHM = 1000 A, EW(Ho) = 100 A
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FWHM = 3000 A, EW(Ho) = 1000 A
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FWHM = 3000 A, EW(Ho) = 100 A
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FWHM = 3000 A, EW(Ho) = 10 A
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FWHM =100 A, EW(Ha) = 1000 A

FWHM =300 A, EW(Ho) = 1000 A

FWHM =500 A, EW(Ho) = 1000 A

FWHM = 1000 A, EW(Ho) = 1000 A

FWHM=3000 A, EW(Ho) = 1000 A

ANERRRRRRRRRRRRRE RN
)

2
1

log,p[Cumulative Number / deg

88—
WO [

ARNRARARRARRRRRRRE AR
L)

[T T
L)

2
1

2
1

e Number / deg

log,g[Cumulagive Number / deg

10, 6[Cumu

L]
00 @/ @OntiduLd: 785
45

Wognipyum

RARRNABRRNRRRAAI \H:H

2
1

2
1

tive Number / deg’

]
-
.
(]
g

log,glCumul®ive Number / deg

10 g[Cumu

.
L1 [ WL 1

05 -1
logyolflux dgsity / u Jy]
FWHM = 100 A, BW(Hc) = 100 A
o

-05
logylflux dgnsity / u Jy]
FWHM = 500 ASEW(Ho) = 100 A

FWHM = 1000 PEW(He) = 100 A

15 1 05

logyq[flux density / u Jy]
FWHM = 3000 APEW(Ho) = 100 A
(]

umulative Number / deg?]

o000

.. o contiium: €.
0 45
5. m—
66 =
69
77

88 ——
L [ Woentingm [

[ ]
AR RARRN RERAN ERREP SRS

2
1

2
1

e Number / deg

©//@UNENUeM: -39 00—
45 B

log,plCumul®ive Number / deg

log;glCumi

L[]

Viegontgm

2
1

2
1

log, g[Cumulgive Number / deg
log,glCumul®ive Number / deg

-05 -1
logylflux G%s\\y,’ wlyl
Ha)=10A

-05
logyglflux nznsny/‘ wlyl
FWHM = 500 AgEW(Hd) = 104

15 1 05

logyglflux dgnsny Tyl
FWHM = 3000 § EW(He) = 10A

e
® © © 00 A MNP

umulative Number / deg?]

o000 00

88—
L [Woeningm

2
1

2
1

)] OB
EX

log,olCumulagive Number / deg
logplcumul®ve Number / deg

° 88—
Lo WO [

88—
Ly [Wogenipym

2
1

109, glCumulagive Number / deg
logo[Cumula@ive Number / deg?]

L NN ]

88 mm—
Lol i [WRRONPYM T

-05 -1
logyqlflux density / w Jy]

900000000

-05
logylflux density / w Jy]

15 1 05
log, plflux density /  Jyl




high-z HAE Number Count
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